Express the following as a single logarithm in simplest form:
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Given that log, x=—6 , log, y=-3 , and log, z=8 , evaluate the expression log,[

?'_3_}’}
\

) /ogr : : #lo r{a_ /°«7 el g / °9r }g (ysi’) k

-5
El"x+%/°)'t+3,°3r"sl°}r‘l

T TEI3R)F()-56)
S N/SHRA34/S

&>



Derivatives of Logarithmic Functions

Let's work from the known...

« At this point you should know how to differentiate y = e*.
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What other function could this model? <
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Try to differentiate

Differentiate:
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We have now covered base "e"...both as an
exponential and logarithmic function...

What about other bases??

Will need to know the change of base formula for logarithms:
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Differentiate:
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This leaves one form of exponential function remaining...

» What about a function such as y = 3%
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Practice Problems:

Page 383 - 384

#1 #2a #3 #4 Page 367
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Attachments
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B 1. Find the measure of the indicated angle.
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2. Find the length of fhe indicated side.
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3. Solve the following triangles.
(a) (b)-
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1. (a) 39° (b) 53° (e) 60° (d) 35° (e) 45° (F) 57° (g) 65° (h) 28° §
2. (a) 142 b) 134 (c) 355  (d) 89.9 (e} 1.8 (f) 235 (g) 112 (h) 161 1,

3. (a) LA=39 £LC=51°, b=32 (b) LA=45°, 3=80.6, c=80.6 (c) LA =25° a=6.34, b=13.6
" (d) £LB=52°, £C=38,¢c=117 f{e) b =539, LA=50°.LC=40° (f) c=3.91, LA=40° /B=50°
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